TRieaR T YR & R S A B e 78 WEd 2 3R 3 %967 wfid OMR SR vie 3t e Tden gRa®I . :
Candidates should open the top side of the seal of this Booklet and take Test Booklet No. :

out the OMR Answer Sheet placed between page no. 2 and 3.

m”reﬂg A6 WET' :
A2-R5 : WEB DESIGNING & PUBLISHING Test Booklet Series 21
i @ : 352 SET - 02 siférpaat 37 : 100
Time Allowed : 3 Hours Maximum Marks : 100
e . IR Me A

Roll No. : Answer Sheet No. :

TeEl & ITR I A Use fereetterisia srgfaei @1 &amer A ug of |/ Read the following instructions carefully before you begin to answer the questions.

3FIGarRi & feTu argaer

Instructions to the Candidates

1.

yeell & 3R feTrel 3R el A Usel 31U 5 YRA®T Bl oirg
T Jhafdad &2 of 5 397 g goe (12) & gen &g g o
AP HIOT HH AT GART dT &l 31 IR & | IS 37 3 g &
BT Ffe UTY, T deble? SAD et A YR of |

SNTHSR JR-2fc Ueet YRAISHT # & 3uetes 91 | Hu=n Jlerread
3 fp 3NTAMR ofic Tz AR wdiemr gRaw Jwan Ja= g
3NMTAIMR ofic TR SR IR A Usd 3NTANR ofe ©R BU
ferdel @ eTel A US| 31U INTHIR Ia3-Usles Uz Aail ferazol
Bl TS T A T IR PBIS FHAT 8191, VAT o PHel UR 3T TR
YR B FHeide T2l b oI JhdT ¥ 1 TSN Bl IR Al Y
PBeel A Ul U INTAHIR Iae-Usih U2 &) o1w fererfRa zemer
TR 370 EIA1GR B 89T | g1 ferdell 1 gof U A urerer fopen
ST AmEe, TAT o B TR 3TUS NTANR FTR-YRABT BT
FHeATH & B oI AP & |

A gRas # Bt 100 Tgfahed i Uee & il o5 haet SeTel HIST
#H 3ucteel 31 UAF 99 & 4 fawen e ow E, (A), (B), (C) 3k
(D)1 fepaft oft Rarfer & uies weet &1 PBact Uk fabey & T& ST
T afe ausm! ve A 3ifere fadbeu FE oo @ T 3iferes SRIa
U ey T gaTTa e 31 3o offe & Aeaera uee & ATHe arel
UGS el Bl BT B2 |

Ui e ITT b feT0 1 31 T SIwar | Iretd 3= & foiu @is
APRIHD 3ihel o1& &l

M BT BT B b [T BdeT Brct/eliel dict Wrse Uel &l g
&3 | T Dl Uh TR BTl BIel b I SADI THeTe AT aSetdd bt
ST @ & | ATe [FAt Teel b ATeTel Teb A SATGT Oiled et e
10 & ar HefieT g1 39 10 e 3iss fewrm smeoT |

Bl oft Rarfy & 3w ofic & 7 AL
IAR-YRABT TR BIS off T BTt ol el & | I B F e 52
gt & vermer = o B

TNET FaA/BeR] H AlQATgel Wie dell IaR AdR AT G ave
eIt & | 3efieary @ 3e0b 3ual fad & Hawe & wirdl & b
HAdTSe Bie/fpAt 31 IR AR AT Dl g 316 Bk ot
3T URT o T | TH UGS HI 3TUTelel of d2el Bl UAeT &
sigfad Ut ST =97 AT SR 3R 3596 fa5g wridd &
SITEoN, TorAe 3oTeh! Ieailears) g e off onfdeT &1

3razeft 3rueft TR gRawT widers H AT fem iR s A
Har & AHS IR el U= Iuf¥Afy s v grer Rw fen
TINeTl Bict /el A dATeT <Tel off Abdl|l SHb 3iclrar 373Ril Bl
uRafy s WR wRARR HA A Ut Ig oft Jhafvaa ween
aifae fF gaeie daR, gaaie IS AR 3NTANR TR gRa®
T TE go1 A forsft ot A1 U A B R, 3NTAIR TR
QRATBT I 31T AT SEIN /eI oTel Teba Sl Jebell ¢ |

1. Before you start to answer the questions you must check this booklet
and ensure that it contains all the pages (12) and see that no page or
portion thereof is missing or repeated. If you find any defect in this
Booklet, you must get it replaced immediately.

2. OMR Answer-Sheet is within the Question Booklet. Please
ensure OMR Answer-Sheet number and Test Booklet No. of
Question Paper are same. Read the instructions printed on
OMR Answer-Sheet carefully before filling the information
on the OMR Answer-Sheet. You must complete and code all
the details on the OMR answer sheet correctly, failing which
your answer sheet may not be evaluated. You must also put
your signature on the OMR Answer-Sheet at the prescribed
place hefore you start answering the questions. These
instructions must be fully complied with, failing which, your
OMR Answer-Sheet may not be evaluated.

3. Thisbooklet consists of 100 Multiple Choice Questions and are printed
in English language only. Each question has 4 (four) alternatives
(A), (B), (C) and (D). In case if you find more than one correct
answer, then choose the most appropriate single option and darken
the appropriate circle in the answer sheet against the related question.

4. Foreach correct answer One mark will be given and no negative
marking for incorrect answer.

5. Use Black/Blue ball point Pen to darken the circle. Answer once
darkened is not allowed to be erased or altered. Against any question
if more than one circle is darkened, machine will allot zero mark for
that question.

6. Do notfold answer sheetin any case.

7. No rough work should be done on the Answer-Sheet. Space for
rough work has been provided in this booklet.

8. Mobile phones and wireless communication devices are completely
banned in the examination hall/rooms. Candidates are advised not
to keep mobile phones/any other wireless communication devices
with them even in switched off mode, in their own interest. Failing to
comply with this provision will be considered as using unfair means in
the examination and action will be taken against them including
cancellation of their candidature.

9. Candidate should not leave the examination halllroom
without handing over his/her Answer-Sheet to the invigilator
and without signing on the attendance sheet at proper place
against your roll number. Further candidate should also
ensure that booklet no., booklet series and OMR Answer-
Sheet No. are correctly written on attendance sheet before
signing on it, failing in doing so, may lead to disqualification/
no evaluation of OMR Answer-Sheet will be done.

T4 A 3T P& o ST a9 adb ULe-GRaeT «f Jei / DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.

3IFcaR &1 =1d/Name of Candidate :

3I#leaR & sx1eRR/Signature of Candidate :




How to insert multiple line comments in a
CsSsS file ?

(A) //statement
(B) ‘statement
(C) /* statement */
(D) // statement //

Which of the following is video format in

HTMLS5 ?
(A) MP5 (B) WebM
(C) wbr (D) None

Which CSS Property specifies the clarity of
the image ?

(A) Overlay (B)
(€) Clarity (D)

Clearfix

Opacity

Which of the following statements define
Arrays in JavaScript ?

A) Itis an ordered list of values

B

~—"

(

( It is an ordered list of objects
(C) TItisan ordered list of string
(

D) Itis an ordered list of functions

Which of the following file types does not
have the ability to be animated ?

(A) .PNG

(B) .PSD

(C) .GIF

(D) None of the above

10.

A color system’s range of colors that it can
display or print is

(A) Dithering

(B) The Gamut

(C) Color Model

(D) None of the above

W3.CSS is a standard CSS that has :
(A) jQuery library.

(B) JavaScript library.

(C) Both (A) and (B) are true.

(D) Both (A) and (B) are false.

How to close all files open in Notepad++ ?
(A) File Menu -> Close option

(B) Search Menu -> Close all
(C) File Menu -> Close all
(D) Ctl+w

Which of the following ways are valid to
specify white color using CSS ?

(I)  #FFFFFF

(I) rgb (255, 255, 255)
() rgb (FF, FF, FF)
(
(

—

A)  Only (I) (B)
C) Both (I) and (ITI) (D)

Only (III)
Both (I) and (II)

Which CSS attribute(s) should one use to
create a pink dotted border around an image ?

()  border-line

(II) border-style
(III) border-color
A

® (1

(©

(D) Both (II) and (III)

Page 2/21

SPACE FOR ROUGH WORK

A2-R5/S2/08-22



11.

12.

13.

14.

15.

Which of the following attributes defines the
URL of the page to embed when the <iframe>
tag is used ?

(A) src (B)
(C) style (D)

href
title

Which feature of photoshop track recent
changes made to an image ?

(A) Help (B)
(C) History Panel (D)

Creative suite

File

Consider the below div tag content statement,
how to print the value of “UserName” ?

<div ng-app=""
init="firstName="John’”">

ng-

<p>Input something in the input box:</p>

<p>Name: <input type="text” ng-
model="UserName”></p>

<p>You wrote: </p>

</div>

(A) UserName (B) {{UserName}}

(C) {UserName} (D) {_UserName}

Which of the following defines the set of rules
that are followed by each computer present
on a network ?

(A) Web (B)
(C) Domain (D)

HTITP

Protocol

Which shortcut key is used to duplicate the
current line in Notepad++ ?

(A) Ctrl + Shift + D
(B) Ctrl + Alt+D
(C) Cul+D
(D) Alt+D

16.

17.

18.

19.

20.

Which of the following is true about
Angular]S expressions ?

(A) Expressions behave in same way as ng-
bind directives

(B) Expressions are used to bind application
data to html

(C) Expressions are written inside double
braces like {{expression}}

(D) All of these

Which of the following is required for joining
the internet ?

(A) Internet architecture board
(B) Internet society

(C) Internet service provider
(D)

Different computer

Which of the following is used to create an
ordered list in HTML ?

(&) <ul> (B)
(© <pl> (D)

<ol>

<hl>

What is the proper html syntax for
referencing an external style sheet ?

(A) <style src="demostyle.css”>

(B) <stylesheet>demostyle.css</stylesheet/
>

(C) <linkrel ="“stylesheet” type=“text/css”
href= “demostyle.css”>

(D) None of these

Which of the following is not a mouse event ?
(A) onclick
B) onmousescroller

D

(
(C) onmouseover
(D) onmousemove
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21.

22.

23.

24.

25.

What is the keyboard shortcut key for
increasing a document’s zoom level ?

(A) Alt + the plus key (+)

(B) Ctrl + the plus key (+)
(C) Alt+>
(D) Ctrl+z

Which is the correct syntax to call an external
JavaScript file in the current HTML
document ?

(A) <script src="test.js”></script>
B) <script href="test.js”></script>
<import src="test.js”></import>

)
D) <script link="test.js”></script>

Which of the following is/are a <style> tag(s) ?
() <b>

(B) <tt>
© <>
(D) All of the above are style tags

For what purpose is the CSS padding
property used ?

(A) Border

(B) Space

(C) Background Color
(D) Margin

The internet originated from the concept of

(A) Microsoft (B)
(©) Web (D)

ARPANET
IBM

26.

27.

28.

29.

30.

The correct syntax to write “Sky is blue” in
JavaScript is :

(A) jscript.write(“Sky is blue”)

(B) document.write(“Sky is blue”)
(C) print(“Sky is blue”)
(D) jscript.print(“Sky is blue”)

Which of the following is true ?
(A) BR tag is used to have a blank line

(B) In tables, the header cell is centered by
default and the data cells are right-
aligned

(C) The <TR> is used to create a data cell

(D) INPUT tag must have at least 4
attributes

Which of the following expressions is true ?
(A) {expression} (B)
(C) _expression (D)

[{ expression }]

{{ expression }}

In the following transition, what does .4s
describe ?

transition: color .4s linear;
(A) Word-spacing (B)
(©) Duration (D)

Padding
Property

Which statement specify correct difference
between var and let keywords in JavaScript ?

(A) var defines a variable while let defines
a constant.

(B) There is no such major difference
between them.

(C) The value of a variable declared with
var can be changed while the value of
a variable declared with let cannot be
changed.

(D) var defined function scoped variable
while let define block scoped variable.
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31.

32.

33.

34.

35.

How will you make all paragraph elements
‘GREY’ in color ?

A) p.all {color: grey;}
B

~—"

(
( p-all {color: #990000;}
(C) all.p {color: #998877;}
(D) p {color: grey;}

What type of value gets printed if we add
the following two variables ?

var a = “10”;var b = 50;

(A) Long (B) Text
(C) Integer (D) Number
Image is changing the appearance

of an image by altering the colors of the pixels.
(A) cropping (B) filtering
(C) Dblurring (D) rotating

HTML metadata is present in which of the
following tags ?

(A) <Head> (B) <body>
(C) <title> (D) <p>

Which of the following is/are the purpose of

markup language ?
()  Add hypertext capabilities

(II) Enhance the document

(III) To define elements within a document.
(A) Only (1 (B) (1) and (Il

( (I), (II) and (III)

C) Only (II) (D)

36.

37.

38.

Which CSS property helps one to decide
whether the text should be clipped, show
some dots (ellipsis), or display a custom
string ?

(A) Text-decoration (B) Text-stroke
(C) Text-shadow (D) Text-overflow

Which program is used by web clients to view
the web pages ?

(A) Web browser  (B) Protocol
(C) Web Server (D) Search engines
Which of the following code is most efficient ?
Code 1;

for(var number=10;number>=1;number —)

{

document.writeln(number);
}

Code 2;

var number=10;
while(number>=1)

{

document.writeln(number);

number++;
}

A) Code 1
B) Code 2

(
(
(C) Both Code 1 and Code 2
(

D) Cannot Compare
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39.

40.

41.

42,

43.

44.

Which of the following is true for pseudo class
in CSS ?

(A) Match A Specified Element
B) Select The Active Links
Are Used to Select All the Visited Links

Are Used to Define a Special State of
An Element

Which of the following options can be used
to remove parts of an image ?

(A) print (B)
(C) rotate (D)

crop

resize

CSS’s position property default value is

(A) Relative (B)
(C) Fixed (D)

Absolute
Static

To control image repetition in CSS, the
correct option is :

(A) hl { background-loop: none; }
(B) hl { background-repeat: none; }
(C

(D

) hl { background-iterate: none; }
) None of the above
Marquee tag is used for

(A) To scroll piece of text or image

(B) Mark the list of items
(C) To hide the text
(D) None of the above

Which CSS selector will be used to define a
single element’s style ?

(A4) W (B)
(C) Text (D)

Class

Name

45.

46.

47.

48.

49.

50.

Which tool is used to write your name on an
image ?

(A) Transform tool (B) Draw tool

(C) Text tool (D) Sketch tool

Which of the following is not possible to

animate using CSS ?
(A) Padding (B) Word-spacing

(C) Text-transform (D) Width

Which of the following is not a browser ?

(A) Microsoft Edge (B) Google Meet

(C©) Mozilla Firefox (D) Google Chrome

Which of the following tag is used for

inserting the largest heading in HTML ?
(A) <h3> (B) <hl>
(C) <ho> (D) <h2>

Which selector selects elements based on a
certain state ?

A) Combinator selector

B) Pseudo Class selector

~"

C) Pseudo elements selector

(
(
(
(D) Attribute selector

In the given imgtag, what “img.png” inside
the double quote implies ?

(A) element (B) attribute

(C) wvalue (D) operator
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51.

52.

53.

54.

55.

Which is the correct syntax for Angular
Module ?

(A) varvariable_name = angular.module
(“app_name”, []);

(B) varvariable_name = angular.modules
(“app_name”);

(C) varvariable_name = angular.module();

(D) varvariable_name = new module();

HTTP stands for

(A) Hyper Text Transfer Protocol

B) Hyper Trasfer Text Protocol
Hyper Text Transmission Protocol

)
D) Hyper Transmission Text Protocol

Which of the following is used to apply a
specific rule and can never be overridden in
CsS ?

(A) @important (B)
(C) limportant (D)

limportant!

important!

Which of the following is not a text editor ?
(A) Paint

(B) Sublime

(C) Notepad++

(D) Visual Studio Code

is a declaration for an HTML5
document.

(A) <IDOCTYPE html>
(B) </DOCTYPE html>
(C) <DOCTYPE html>
(

)
D) <DOCTYPE html!>

56.

57.

58.

59.

60.

61.

Which of the following markup languages are
based on SGML ?

(A) VHML (B)
(C) CFML (D)

XML
SML

Who invented WWW (World Wide Web) ?
(A) Bill Gates

(B) Lee. N. Feyong
(C) Tim Berners Lee
(D) Tom Berners Lee

Which of the following properties is used to
set the face of a font ?

(A) font-family (B) font-face
(C) font-variant (D) font-style

__________ is the HTML tag used for
superscript text.

(A) <sup>
B) <superscript>
<s>

)
D) <superscripted>

Which attribute is used for body background
color ?

(A) bgcolor
B) background
back color

None of the above

Angular]S is a

(A) HTML Framework
(B) Net Framework

(C) JavaScript Framework
(D)

D) Oracle Framework
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62.

63.

64.

65.

are computers that connect to
a network and deliver resources to other

computers.
(A) Servers (B) Mainframe
(C) Network (D) Clients

File transfer from any webpage to computer

system is referred to as
(A) Uploading (B) Forwarding
(C) Downloading (D) Transferring

Ctrl + '+ F is the shortcut key for
in sublime text editor.

A) Find

(
(B) Find in the Files
(C) Find in Folder

(

D) None of the above

What will be the output of the following
JavaScript code ?

<p id="demo”></p>
<script>

varjs = 10;

js *=5;

document.getElementByld(“demo”).inner
HTML = js;

</script>
(A) 10 (B) 15
<G 5 (D) 50

66.

67.

68.

69.

70.

Which of the following statements is/are
correct ?

(A) AnIP address consists of four bytes (or
32 bits) each of which can be a number
from 0 to 255.

(B) For browsing or sending an email, an
IP address assigned to the computer is
required.

(C) IP address is always unique for each
computer.

(D) All are correct.

Which of the following is an example of a
search engine on the internet ?

(A) MS Office (B) Google
(C©) Gmail (D) Windows
CSS syntax is divided into parts.

(A) Selector and Declaration
(B) Property name and value
(€) Color and style

(D) None of these

Which of the following properties of an
anchor element indicates that the user is
currently clicking on an element ?

(A) c:link (B)
(C) :hover (D)

:visited

:active

Which of the following directives allows one
to use form ?

(A) ng-app (B)
(C) ng-controller (D)

ng-form

ng-bind
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71.

72.

73.

74.

75.

For which of the following purpose(s)
JavaScript is designed for ?

(A) To style HTML Pages

(B) To perform server-side scripting
operation

(C) To execute query related to DB on
server

(D) To add interactivity to HTML Pages

Which CSS property should one use to
encircle an image with text ?

(A) Float (B) Push

(©) Align (D) Wrap

Which of the following statement(s) is/are
true ?

()  The web designer shouldn’t just be
concerned about the looks but also
about user interface

(I) Usability is very important in web
design

A) Only (I)
B) Only (II)
Both (I) and (II)

None of the above

Which of the following is the CSS Extension
Prefixes for Webkit ?

(A) -webkit (B) -o-

(C) -web (D)

-chrome

The “color:black” in CSS syntax is known as

(A) Value (B)
(C) Selector (D)

Declaration

Rule

76.

77.

78.

79.

80.

In CSS, selectors are used to
select the elements you want to style.

(A) Classes (B)
(C) Properties (D)

Patterns

Functions

If params is a DOM object for a paragraph,
which of the following is a correct syntax to
change the text in the paragraph ?

(A) params.value = “Updated Text”;
B) params.content = "Updated Text”
params.nodeValue = “Updated Text”;

)
D) params.firstChlid.nodeValue =
“Updated Text”;

What is a Model in MVC ?

(A) The lowest level of the pattern
responsible for maintaining data

(B) Represents server-side data
(C) Represents data stored in a database

(D) None of the mentioned

Which type of CSS is used in the code below ?
<p style = “border:2px solid red;”>

(A) External CSS (B) Internal CSS
(C) Inline CSS (D) None of these

Which one of the following is not considered
as an error ?

(A) Division by zero
(B) Missing of Bracket
(C

(D

) Syntax error
)

Missing of semicolons
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81. Which of the following is a correct CSS | 86. Which CSS property specifies how a video,
Syntax ? or an image is resized to fit its content box ?
(A) {body, Color:orange;} (A) Position (B) Ob]eCt—pOSltIOI‘l
(B) {body: color=orange;} (C) Object-fit (D) None of these
(©) body:color=orange;
87. Whatis the output of the following JavaScript
(D) body/{color:orange;} code ?
<script>
82. What is the file extension for a Photoshop file ? var a;
(A) .psd (B) .pds document.getElementByld(“demo”).inner
HTML=a+1;
C) .phot D) .phsd
(C) .photo (D) .phs </script>
(A) O (B) undefined
83. For generalized color correction, which € 1 (D) NaN
command adjusts the overall combination of
colors in an image ?
88. Which of the following is the correct option
A) The Color Bal & P
(A) ¢ -olor batance for the requirement of web publishing ?
(B)  Variations (A) Internet Connection
(C) Curves (B) Web development software
(D) None of the above (C) Web Server
(D) All of the above
84. Ctrl + 1T+ P is the shortcut key to open
in sublime text editor. 89. When working with a Mask Layer, for an
erasing effect, what tool is used to “take
(A)  Web Browser away” and “add” to the picture ?
(B) Command Prompt (A) Selection Tool ~(B) Paint Brush
uick-open files by name aint Bucket asso Too
(©)  Quick files b (C) Paint Buck (D) Lasso Tool
(D) Toggle sidebar
90. How to read and render an HTML page ?
85. What is the standard resolution of images on (A) Through Web server
the web ? (B) Through Web network
(A) 72PPI (B) 300 PPI (C) Through Web browser
(C) 256 PPI (D) 172 PPI (D) Through Web matrix
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91.

92.

93.

94.

95.

Which of the following options is incorrect
with reference to status codes ?

200 OK

B) 304 Not Found

400 Bad Request

301 Moved Permanently

W3.CSS does not provides the following
border class :

(A)
B) w3-border-right

w3-border-top

w3-border-bottom

)
D) w3-border-gutter

From the below mentioned CSS properties,
which of the following is used to make the
text bold ?

Text-align: bold
B) Font-style: bold
) Font-weight: bold
D) Text-decoration: bold

What will happen in the following case ?
h1 {color: red text-decoration: underline;
font-style: italic;}

(A) color: red, text-decoration: underline
and font-style: italic all works

(B) text-decoration: underline and font-
style: italic works

(C) color: red, text-decoration: underline
works
(D) only font-style: italic works

HTML Tags are enclosed in
(A) ? And! (B)
(©)  {And} (D)

< And >
# And #

96.

97.

98.

99.

100.

What is a module in Angular]S ?
(A) Expression
(B) Application

(C) Element

(D) None of the above

How can one change the font of an element ?
A) £ (B)
© (D)

Font:
Font-family: Font:b

By using CSS style or code, how can one
remove the underline from all hyperlinks ?

(A) a {text-decoration: no-underline;}
(B) a {text: no-underline;}
©)

(D)

a {text-decoration:none;}

a {text-style: no-underline;}

Which of the following is used for creating
and manipulating photoshop images ?

(A) Panels (B)
©) (D)

Layers

Tools Effects

Which of the following is correct ?

(A) Style sheets allow content to be
optimized for more than one type of

device.

(B) CSS can store web applications locally
with the help of an offline cache.

(C) Using CSS, we can view offline
websites. The cache also ensures faster
loading and better overall performance
of the website.

(D) All of the above.

-00o0-
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